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LarTrig? 3.3.002. (2548311) (Add) -- view " ( O-
Comment: not randomized

YT EDICEE

Fill in the blanks.

—
The directed line segment PQ has | —-Select— v| -/ an initial point| P and
|———Selecl——— v| o a terminal point| Q. 7

I1.-e

Q-= (@,gﬂ

© = (p,p)

S ¥ ]

LarTrig9 3.3.003. (2446490) (Add) - view

) (@aa28) (= 53\

Fill in the blank.

g v
_ =\[Gep) + GaoP)
The | -—-5elect— ~| | 4 magnitude| of the directed line segment PQ is denoted by

el ., 7

P
LarTrig? 3.3.004. (2548262) (Add) - view

Tt emire e (0 ) (Aa&Es) (w11 \J‘

Fill in the blank.

. NV = <g,’P\/Z’L'Pﬂ.
The set of all directed line segments that are equivalent to a given directed line segment PQ is

o PQ
a |-—Select— ~| |~ vector| vin the plane. T »‘V\g},‘k \3(9\4 W/\:kne —\7 Qo’\’\.lﬂ)O‘\'A? F‘-

LarTrigd 3.3.005. (2446358) (Add) - view "

(O3 ) (S ) (w1

Fill in the blanks.

In order to show that two vectors are equivalent, you must show that they have the same

LarTrig? 3.3.005. (2446358) (Remove) — view

(031 ) () (w1 11)

Fill in the blanks.

In order to show that two vectors are equivalent, you must show that they have the same

and the same [—Seleci— g -

LarTrig9 3.3.006. (2447363) (Remove) -- view "

(O ) (addadd ) (1)

Fill in the blank.

The directed line segment whose initial point is the origin is said to be in

-/ standard position

LarTrig9 3.3.007. (2446130) (Add) -- view ”

(Om ) (hbds) (-

Fill in the blank.

A vector that has a length of 1 is called a .

LarTrig9 3.3.008. (2447081) (Add) -- view *

) @asi) (s 1eR T ol
Fill in the blanks. hor 2V
The two basic vector operations are scalar and vector '\'/' =<V, V¢>
J adtion] -
AT = Zav, %7
LarTrig9 3.3.009. (2548141) (Add) — view " - — — —~
Comument: not randomized [‘) J [“‘&&J ( I u + v =
Fill in the blank.

V.
Cumy F LV R
The vector u + v is called the | —Seleci— ~| | - resultant vector| of vector addition.

LarTrig9 3.3.010. (2446702) (Add) -- view

(Odr ) (b ) (—r

Fill in the blanks.

The vector sum vyi + v;j is called a | --Select-— ~| | linear combination| of the

vectors i and j, and the scalars v; and v3 are called the | —Select—-- | | horizontal| and
components of v, respectively.
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LarTrig9 3.3.011. (2446340) (Remove) — @

W

Wl =\ (e r ()" Tt =V

Show that u and v are equivalent.
P
Wi = (oS + Gt
KTl (T = JU”/
M-l |
)

N

- = _  _—
_ o L
(6, 4)

4 /

4 3) T/

— _ =V
2 - (
2,1 W ey =Ly 2
B v
(0, 0)
2 1 B R
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N J
rTrig9 3.3.013. (2446211) (Remove) -- view " (1, 8)
BF
Find the component form and magnitude of the vector v.
TF
component form v =
/ sl

mgwe M- ()

)
arTrigd 3.3.014. (2548119) (Add) - view ” @) 1

Find the component form and the magnitude of the vector v.

component form v= <{-g ,O

magnitude [[w]| \ LS
y
|
=10 -8 -6 =2 1
(-8, -1)

-2
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LarTri@S.l]ls. (2548127) (Add) — view " (@ ) () (-

Find the component form and the magnitude of the vector v.

< N -7
v=| <iw,07 v PQ = a2, -
M=l o T ! Ly = Lo

rn

L i) /3
10 A =B 4 2 v4d 6 8 10
{_81_]-} -2 (2,_]]
LarTrig9 3.3.020. (2595927) (Add) -- view " @
Find the component form and the magnitude of the vector v.
Initial Point  Terminal Point vz - , -G-5
(-2, 5) (5, -19) (_,L/§3 T
- (= w7 =
V= (—_7,‘/)_\'\7
— <
Vv — - T (29
M= a5 g iz ?+ €
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LarTrig9 3.3.025. (2446672) (Add) — view ~
Comment: not randomized

Consider the following.

Use the figure to sketch a graph of the specified vector.

-V

LarTrig9 3.3.026. (2446805) (Add) -- view ™ @

Use the figure to sketch a graph of the specified vector.

av

LarTrigd 3.3.027. (2446223) (Add) - view * u
Comment: not randomized %

Use the figure to sketch a graph of the specified vector.

u-+v /800/( !
T4V = Ml PQAQM,@Z»%

“
LarTrig9 3.3.028. (2447256) (Add) -- view ” \q
Use the figure to sketch a graph of the specified vector. _ ynf// =27
- 7
u+ 3v v N
) ig) 4
— y%
~ I/v _T
w

LarTrig9 3.3.029. (2446693) (Add) - view *
Comment: not randomized

Use the figure to sketch a graph of the specified vector.

u-v
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LarTrig9 3.3.031. (2447278) (Add) -- view " /_D uag o+ . T e < ‘C-Q. (_CL\_‘A
A =
{
Find u + v, u — v, and 3u — 4v. Then sketch eé&b resultant vector. ,Q/V\gu_jL) Nc'}’d’\s JF'O ‘ ﬁ.k'l’ e
u=1(4,1),v=1(1,5 - \7___ - m
(4 1), v=(15) vl et o
(@ u+v
< ,\,q o~ J’O
Qolo( e |
wtVv =
57
(b) w-v (q/\y‘\IL |
-l e _ pan S
4 7/ 67

34T = 3L,y <7
= a3 - {407

(/qu'/?-"—o>

A\

- <9/‘l?’7
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LarTrig9 3.3.035. (2447146) (Add) -- view ' 2 A o g‘ 7/_ . C\C\/\ A / Carn e J
Find u + v, u — v, and 2u — 3v. Then sketch Each\m_s'mﬁnt vector. 'L = a / D> . ~L
u=i+ij, v=ai-si _ b+ e TS,
) = <o, W

(@ u+v
= (“‘,”1,7 = u,<v,07 4—\4,,'(0/!7

€TSS STAT = s

LarTrig9 3.3.039. (2446480) (Add) — view " @ (Qam ) (Sd&Ed) (n

Find a unit vector in the direction of the given vector. Verify that the result has a magnitude of 1

<\

u=(10,0)= o7
e F wedton ro 4 »—<ch f/@m]
I BN gy
X " e direchio~ OaC o S - = ——I— L A LT
,.K_ =\ fai
- \00 \ _ [ - / I\M
— W = =07 = L\, 07 = (
=10 | 12N 1o *
LarTrig? 3.3.044. (2447000) (Remove) —- view ~ ’L; = (ee
— — — B 34
Find a unit vector in the direction of the given vector. v = 5[ —Qj = < g/_q_>
v = 8i - 2j 1+
L () = vy =\ 8T+ D
I - R ) N
PR B Lo =
— = ) o¢g -27
Vi /\/ = (
— = =0 20Vt \ i’
\\Ul\ \\\/1 i - — > s ©
=<Z =

LarTrig9 3.3.050. (2524455) (Add) - view @ (G

Find the vector w with the given magnitude and the same direction as v

Direction

Magnitude
=(-36, -15)

[lwlj =3
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LarTrig9 3.3.063. (2446361 e) — view
arTrig ( ) (Remove) -- view @

Find the magnitude and direction angle of the vector v. . . . -
9 9 D,r(L‘L(O"’\ m?,al [ ’{/]./L( @oslll"‘(

magnitude |:| - /5 W’\é/gl o ""(C‘Ao’\ Mmrakes worth 'H«.(
va
direction angle I:I ° PGSI X —ar's

@ 4_4 &h
9=
! TN\ FreF (v =\

- (8] o _ o _
O =360° -5 = 315° =D -2
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LarTrig9 3.3.067. (2446719) (Add) -- view " A9 |’ )sm_ ] |’ 244258 ) [E

Find the component form of v given its magnittkl'&and the angle it makes with the positive x-axis.

Magnitude Angle
[lv]l =4 6 =0°

I %

4,07

LarTrig? 3.3.069. (2447187) (Add) - view @ |’ y4m ) [ “‘;gj |’E

Find the component form of v given its magnitude and the angle it makes with the positive x-axis.

Magnitude Angle
7 o SV

vl == 6 = 150° o = -

I

LarTrigd 3.3.074. (2548198) (Remove) — view " ’)>’|/ )13m 22222) (m

Find the component form of v given its magnitude and the angle it makes with the positive x-axis.

"R?‘"i:“;de v in the ;:Iil:on i+7j s\(‘b 9 = an Q‘LM (?)
., >
<u-2 «2> ﬂjﬂ<7Mus .
an c"('o-”\ '

f@t ) ' \ M- 50
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LarTrig? 3.3.076. (2548293) (Add) - view " @

November 01, 2016

(Qsm_) (
Find the component form of the sum of u and v with direction angles &, and &,,. @
Magnitude Angle \j
=6 = 602 — )
[[u]] Bu = 60 T = la, Y — b
[[v|| =6 6, = 90° 4 l
— _ _ 1 x
G L3 45 > u = NTllcesBy =6:5=73
-~ . V3
_ = = G == X
N ’(O/("7 Wwo= T s O 9 2 36——: COS@O
JE— ©
WAV =gy 3% 7 o
X= 6 cos 60
L fo
V3 _\IT L osER
o X=
?O
V= Wil eos©; =6-0=0 \
e VARIMIETSS v O, s
= (,, ( —_é
o Cp6 03
e
v /<
LarTrig9 3.3.081. (2596032) (Remove) — view - @ (()14m ) f“&:,:) ( — | 1)
Find the angle & between the forces given the magnitude of their resultant. (Hint: Write force 1 as a vector in 6ook .,\(,(’f
the direction of the positive x-axis and force 2 as a vector at an angle 8 with the positive x-axis. Round your _ —
answer to one decimal place.) ;_ _ r _ -L é Y/ .
=L =V
Force 1 Force 2 Resultant Force \ s T 'B,qu/\ -
40 pounds 75 pounds 95 pounds ~ = <75 cog’e'/ ?_5-5(,\,,@>
6= ' 72.5| °

=35< cosé, S\:~~9>

= @—Y@s o + <'+5‘ sl Q>J_

G+ T = Y007 = YO

— <FSsBD4HD, FS O

_ _ 2 -
W Fmows |15 #7101 = a5 =\ (’-}Scose D) + @S‘;J\@>
:\F—m—}- 2-90 FS dos O + Yeor 7_535 Y

A\ 5571 goascos® Lyo”

=m“‘ L 20.35 cosE =45

>

FaS + 6000 Cos O = 2025
_—— (o@D dos 6 = (800

Qo
1800

B _ 3

cos® = [, 000 T W
3
E:MC(OS("

2 x| 72.54239686

10
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LarTrig? 3.3.085. (2446545) (Remove) -- view ~ (‘b\/—\) |' 1 10m J [“&5:_} [_] |

Forces with magnitudes of v = 125 newtons and u = 310 newtons act on a hook (see figure). The angle
between the two forces is 45°. Find the direction and magnitude of the resultant of these forces. (Round
your answers to two decimal places.)

November 01, 2016

magnitude | H .408.08‘ newtons ] l\{ - | Kj—v-q
direction ) 12.51| © < %

VA

=310

(IvU = s N
x bt = WAV = <2007

\
| n v
_—(3)04_/15"0_/\2'{(‘5

_ 310 + 25
= < r,ﬁ_>

"y

ezw%@

3|o+

R

n

~ 112.50929069°

+ 175 (s 52572

:s’\ﬁm

408.0756983

11
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LarTrig9 3.3.089. (2446917) (Add) — view " (01Em ) (Sd&d ) (— )

The cranes shown in the figure are lifting an object that weighs 20,270 pounds. Find the tension in the cable
of each crane. (Round your answers to the nearest whole number.)

November 01, 2016

12
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